
0 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200
0

100

200

300

400

500

600

700

800

900

1000

1100

1200

1300

1400

1500

1600

1700

1800

1900

2000

2100
Allen Fahrzeugen wurde für einen besseren Vergleich ein Gewicht von 1400 kg unterstellt

Golf V: A=2,22 ; CW = 0,32
Prius II (2003): A = 2,23 ; CW=0,26
Vaneo(2001-2005): A=2,67 ; CW=0,32
Tiguan Track & Field: A=2,55 ; CW=0,38
Calibra: A=1,88 ; CW= 0,26
Porsche Panamera Turbo 2009: A=2.33;CW 
= 0.3
Lexus GS 450h: A=2.59 über bxh 
errechnet ;CW=0.27
Infiniti M35 hybrid:A=2,38;CW=0,26
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